	Factors by Grouping 'Two and Two'
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Now, consider the expression 7x + 14y + bx + 2by.  Clearly, there is no factor common to every
term.  However, it is clear that 7 is a common factor of the first two terms and b is a common factor
of the last two terms.  So, the expression can be grouped into two pairs of two terms as shown.
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This factorisation technique is called grouping 'Two and Two'; and it is used to factorise an
expression consisting of four terms.

Example 8
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Solution:
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Factorise the following:
6x+9+2ax+3a
2= 6x+55-30
Sx+10y-ax-2ay
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a  Oox+I+cax+ia
= (6x+9)+(2ax+3a)
=3Qx+ I +a(2x+3)

Oxt 3)(3+a)
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b, X —bx+5x-30
= (2= 6x) + (51 - 30)
= x(x=6)+5(x~6)
= (- 6)(x+5)
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c. S5x+10y-ax—2ay
= (5x+105) +(-ax—2ay)
= 5(x+29) - alx+2y)

2 +2)(5-a)
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d. & -2a-ax+2x
= (- 2a)+ (~ax+2x)
=ala-2)-x@-2)
=(a-a-7




image1.gif
Consider the expression ax” +bx+cx+3x Clearly, xis a common factor. So, the expression
can be factorised by taking a common Factor out of every term as shown below.
ax’+bx+ext 3x= xlax+bte+3)
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(Tx+14y) + (bx +28y)
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Taking the common factor out from each group, we get:
Tx+2y) +b(x+2y)
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It is evident that (x+2y) is a common factor of these terms and may be taken out. So:
T(x+25) +b(x+25) = (x+29)(7+8)
Hence Tx+14y+5x+2hy = (x+2))(7+8)




